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Accounting

bR W §¢ 2 F m M gjx
i SELECT THE BEST ANSWER FOR EACH OF THE FOLLOWING ITEMS: %}%’ixk;%%—i_g %E%%%_ﬁ éﬁ%ﬁ@g Z%\J ¢

1. On June 1, 1989, Pitt Corp. sold merchandise 5. Partners Hughes, Judd, and King share profits
and losses in the ratio 3:5:2. Just before

with a list price of $5,000 to Burr on account.

Pitt allowed trade discounts of 30% and 20%. liquidation, the partnership has the
Credit terms were 2/15, n/40 and the sale was following balance sheet:
made FOB shipping point. Pitt prepaid $200 of
delivery costs for Burr as an accommodation.
On June 12, 1989, Pitt received from Burr a
remittance in full payment amounting to

AEAAkSe: FFAE T R(BHE R |
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cash  $20,000Hughes, Capital $ 60,000
Other assets 140000 Judd, Capital 20,000
King, Capital 80,000

a. $2,744 b. $2,940 c. $2,944
d. $3,140 e. none of above $160,000 $160,000

2. Union Corp. uses the first-in, first-out retail
method of inventory valuation. The following
information is available:

Other Assets are sold for $80,000. Assuming
the none of the partners can make up any
resulting capital deficit, the final cash

Cost Retail distribution to partner King is
Beginning inventory $12,000 §$ 30,000 a. $68,000 b. $64,000 c. $20,000
Purchases : 60,000 110,000 d. $72,000 e. none of above
Net additional markups 10,000
Net markdowns 20,000 | 6. During 1990, Ganey Corp. had sales of
Sales revenue 90,000 $4,000,000, all on credit. Accounts receiv-

If the lower of cost or market rule is
disregarded, what would be the estimated cost
of the ending inventory?

a. $24,000 b. $20,800 c. $20,000

d. $19,200 e. none of above

able averaged $400,000 and inventory levels
averaged $250,000 throughout the year. 1If
Ganey's gross profit rate during 1990 was 25%
of net sales, which of the following is true?

(Assume 360 days in a year.)

a. Ganey "turns over" its accounts receivablg
more times per year than it turns over
its average inventory.

b. Ganey's operating cycle is 40 days.

c. Ganey's operating cycle is 66 days.

d. Inventory turnover is 16 times per year.

e. none of above.

3. State Corp. recognizes construction revenue
and expenses using the percentage-of-completion
method. During 1989, a single long-term
project was begun, which continued through
1990. Information on the project follows:

1989 1990

Accounts receivable

7. Tyler Corp. has an accrual basis net income
from construction

of $39,000 and the following related items:

contract $100,000 $300,000 Depreciation expense $ 7,000
Construction expenses 105,000 192,000 Accounts receivable decrease 2,000
Construction in progress 122000 364,000 Inventory increase 10,000
Partial billings on Accounts payable increase 4,000

contract 100,000 420,000
Profit recognized from the long-term
construction contract in 1990 should be

a, $50,000 b. $108,000 c. $128,000
d. $228,000 e. none of above

Using the indirect method, what is Tyler's
cash flow from operations?

a. $42,000 b. $46,000 c. $44,000

d. $34,000 e. none of above

8. The following data pertain to two types of

4. Cross Corp. had outstanding 2,000 shares of products manufactured by Korn Corp.:

11% preferred stock, $50 par. On August 8,
1992, Cross redeemed and retired 25% of these

‘Per unit
shares for $22,500, On that date, Cross' Sales Variable
additional paid-in capital from preferred ‘price costs
stock totaled $30,000. To record this Product Y...... $120 $ 70
transaction, Cross should debit(credit) its Product X...... 500 200

capital accounts as follows:

Preferred §dd%tiona1 Retained Fixed costs total $300,000 annually. The
stock paid-in capital earnings expected mix in units is 60 percent for
a. $25,000 $7,500 {$10,000) Product Y and 40 percent for Product X.
b. $25,000 ($2,500) -—= How much is Korn's breakeven sales in dollars?
c. $25,000 ——— ($ 2,500) a. $300,000 b. $420,000 c. $475,000
4. $22,500 -—= —-— 4. $544,000 e. none of above
e. none of above
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